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True or False
	Erosion is the breaking down of rocks, through freeze-thaw weathering.

	

	Abrasion is the wearing away of the riverbed and riverbank by rocks and boulders (sandpaper effect). 
	

	Attrition is when rocks are carried by the river hit and smash against each other causing the rocks to break and become rounder, smaller and smoother.
	

	Hydraulic Power is the process of which water falls into cracks on the riverbank and freezes. The frozen water (ice) expands by 9% breaking the rock slightly widening the crack. Overtime and a repeat of this process will eventually break the rock apart.
	

	A gorge is a narrow steep sided valley formed by a retreating waterfall.

	

	Gullfoss is known as the golden waterfall because the water looks a golden-brown colour on sunny days.

	

	A memorial of Sigriour is located above Gullfoss because she was the first woman to successfully kayak down the falls.
	


Re-write the sentences above that are false so they make sense and become true. 
_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________






	Create a cartoon strip to explain the formation of a waterfall. (Use annotations)

	
	
	

	
	Erosion causes the soft rock to undercut leaving an overhang.
	

	
	
	

	
	
	Downstream of the waterfall a gorge is formed.
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Gullfoss
Gullifoss is known in Iceland as the golden waterfall. This
is because on sunny days the water looks a golden-
brown colour from the sediment carried in the glacial
water. Gullfoss waterfall is created by the force of the
Hvitd river. Hvftd has the meaning ‘white river' because
of the glacial discharge, giving the river a milky colour.

Isostatic uplift

Gullfoss was formed due to a phenomenon known
as isostatic uplift. Isostatic uplift occurs due to the
process of the land rising out of the sea due to
tectonic activity. The land uplifts when a weight is
removed such as a melting ice cap or melting glacier.
The sudden melting of an ice cap or melting glacier
could've been caused by a shift in the earth’s climate

at the end of the last ice age or a jokulhlaup, which is a
glacial outburst / mefting caused by geothermal activity.

Waterfall, Gorge, Plung

The formation of a waterfall

A waterfall begins to form when there are different
layers of rock (Geology).The hard rock is more
resistant to erosion compared to the soft rock which
is less resistant. The processes of erosion begin to
wear away the soft rock at a much quicker rate.
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Waterfall starts here

The soft rock begins to undercut the hard rock
through the processes of hydraulic power and
abrasion. The hard rock begins to overhang the
soft rock due to the undercutting. Pieces of rock
broken off from the sides of the river undergo the
7 process of attrition
R smoothing the rocks in
i rounded pebbles.

Soft rock

The unsupported hard rock eventually collapses
because of its weight and gravity. The fallen

rock adds to the ammunition of the rivers load
and some of the rocks drill into the riverbed
creating a plunge
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— Decision making exercise (DME):




